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Information and Communication Technology

A Company can be called as E-business if,

a. It has many branches across the world

b. It conducts business electronically over the Internet
c. It sells commodities to a foreign country

d. It has many employees.

e. Answer not known

RH HpeuaiHmd W6 - aueoldld elaiml 61IGUTEI Snmeumd?
a. 2 6V (PIPGUGID LD Hlenenase OSBTemTy(HbSHTeL

b. @ememid epeold Wetengml (Lpenpuiled euenfisd BHeL CLIBMBTEO
C. SWe6L BT BGL CuTHL Senem alBLmeT GCFUISHTED

d. uev esmfluitsenet GUBKIHHHTEL

e. alemL G flwalsdenev.

In open office writer, the Find and Replace option is available in which
menu?

a. File b. Edit c. Format d. Tools e. Answer not known
Find and Replace soubsib open office writer 60 ebsp Uil enLuied
o 6iTenghl?

a. File b. Edit c. Format d. Tools e. alewr Gxfuweaisdemnso

IPV4, IPV6 are addresses used to identify computers on the Internet. Find
the correct statement out of the following :
. Number of bits required for IPV4 address is more than number of bits
required for IPV6 address
. Number of bits required for IPV4 address is equal (same) as number of
bits required for IPV6 address
Number of bits required for IPV4 address is less than number of bits
required for IPV6 address
Number of bits required for IPV4 address is 64
e. Answer not known
IPV4, IPV6 gduiemal @@  aleneowlsniolilled  senilefd@ aIpmislUBD — (Wpaoeu
S HemILeuBpled o1& Fllwmer Fnmm.
IPV4 waeaifl wempuied vweuGsHsiuen Uied (bits) IPV6 (paauflenwail
oiFawrer e (bits) GaemeulLBGEBBSI.
IPV4  psafl  wepulsd Gspmeauiupd ied (bits) IPV6 (paseuflag
Capemeutiibd LN e (bits) o L &1 Fiowmeng).
. IPV4 waafl wepuled uvwesmBssiuGn Uiied (bits) IPV6 waeaufss
Caemeaui@ L ed (bits) @ GmBanaisTs SHBGLD.
IPV4 paaufse vwe@n Uted (bits) eewrenismae 64
alewL  Gaflualsvensv.
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Identify the IP address from the following?

a. 300 - 215-317-30 b. 302-215@417-5

c. 202.50.20.148 d. 202-50-20-148

e. Answer not known

IP wpaflsemen @nlds Llssaumd 6bd GBlpe»s LwWeaUIGSSUILGHBSI?

a. 300 - 215-317-30 b. 302-215@417-5 c. 202.50.20.148
d. 202-50-20-148 e. alenL  Gafuwealsvemsv

Statistics

5. A collection of data sets that are large and complex is difficult to store is
a. Variable b. Big Data c. Scale
d. Actuarial Science e. Answer not known
WHaD IFHS  6lIenlHMmMBUITE 6T HJe| 2 MILLHmend  OEBTewnL G
FbBHEOTRIBHIDTET HT6| DIGHLOLILHENT 6TGuTLILI(BLD.
a. Lo b. GQu(pd Byeyselt c. olenai®
d. Puewisaien el G ipaluied e. alL Oafwalevemsv

can be determined using graphs, but not using diagrams.
a. Mean b. Bar c. Line d. Median e. Answer not known
QUEMTLILBIGGT  ¢LP6VLD Sleenal  FlWTes — HewIdbHL  SUIGVID,
AleN&BLILILMIS6T eLP6VLD BUIGOTH).
a. ggma b. ulenL c. Ganlp
d. O LBleme Sienay e. alewL OFHflwalevenev

Large sample test is applicable when the parent population is
a. Normal distribution only
b. Poisson distribution

c. Binomial distribution
d. Any Probability distribution
e. Answer not known
QummIgns CarHemert, 6IGUTH QUTHSHOTHIHTE EMHBGD 6T6eN60, SHIFH6I
(Wpmg CHTGSHUT&T LIT6eu6D
. Buwebpleneull LITaUeUTES B(HHSHTEL oL (HLb
. UTUISTET LIJeUeVTdS  E(HHSHT60
. F(BDILLY UT6euevTs @ (HHSHT6L
. 6b% LJ6UeITH SIHHIHTEID
. alemL  Ggfwaledensv

Student '£ distribution was found by
a. Karl Pearson b. Laplace c. R.A. Fisher
d. William S. Gosset e. Answer not known
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aOBLGL 't LUFaueney 2 (HeuTdhaluielT
a. &ie0 LIITE 60T b. eomlieomerd C. SUT.¢.La0T
d. eflebelwib eT61D. &HTErOL e. alenL Gafuwiealsdensy

Logical Reasoning
9. How many dots lie opposite 2 dots?

a. 1 b.5 c.6 d.3 e. Answer not known
@reni  YelTelladeT o 6ilen  (pHHHBG 61HCT 2 6lfenm  (PHHHe0 615 Heme0t
LeiTellaelT 2 _eiterment?

a. 1l b.5 c.6 d.3 e. allewL  Gxfwalsbensy

Find the odd man out, of the series : 8, 27, 64, 100, 125, 216,

a.64  b.100 c. 27 d. 216 e. Answer not known
Camhsaiul’ L OHTLMed QUITHHSHTSH 6T160T6N6I0T  HIT6HIH:

8, 27,64,100, 125, 216,

a. 64 b. 100 . d. 216 e. alewL  Gxfualsdeney

Simple Interest

11. A certain sum of money amounts to Rs. 8,880 in 6 years and Rs. 7,920 in 4
years respectively, then the principal amount is
a. Rs- 6,000 b. Rs. 6,100 c. Rs. 5,100
d. Rs. 5,000 e. Answer not known
Qb GPUILL oFeonaigd 6 uemihHeied oh. 8,880 SiEeb 4 Sewmi(BHH6eie0 o
7,920 SLHGD LOTWID 6GIIHBIT6Y DIFEOTEIS LG LD.
a. @p. 6,000 b. @ 6,100 C. e 5,100
d. 5. 5,000 e. alenL O flwalsoemev.

If Re. 1 becomes Rs. 9 in 60 years at a simple interest, then the rate % per
annuim is

a.15% b.13 %% c.12% d. 18% e. Answer not known

seolaul lguilet &b 60 SpewipHelled 1 epumul, 9 EHUTWTS OTBISBHI 61660,
WIB eI lg afsbd % wrg?
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a. 15% b.13 %% . 12%  d.18% e eievl Qsfwelsomen
Ratio & Proportion

13. If Rs. 510 be divided among A, B, C in such a way that A gets % of what B

gets and B gets % of what C gets, then their shares are respectively

a.40:110: 360 b. 60 :90 : 360 c.90:360:90 .
d. 50: 120:360 e. Answer not known
apb D10 oozt A, B wmmib C &@ udiba SleféssliuGdma. A elerLelT

@gHed B GQuupid GaTensuisd % Qupidprt. B eemer @gsd C  Qupid

CaTensuiled %@ug}jaﬂgmﬁ o160 SlaUTHeMeT LS. B OHTenDHH6IT

a. 40:110: 360 b. 60:90 : 360 c.90:360:90 .
d. 50: 120:360 e. el Oxfwelsbency

If ratio of three numbers is 10 : 15 : 24 and their sum is 196 find the smallest
number?

a. 40 b. 24 c. 36 d. 49 e. Answer not known
(WD eTemidalel aldlsd 10 : 15 : 24 1oB@Id ST WS OFHTens 196
aefled SIbS elewrentlov FpSlul eTewtenemt Heut(BLILG.

a. 40 b. 24 c. 36 d. 49 e. alewL Gz fuwalsvemsv

LCM & HCF

15. Find the HCFis =,=,%,2 an g

1

b.12 C. . —
60

. Answer not known

1
%%% LOMB3ILD %uj]air 15.0Um.6l. enel et BLILG.
1

a.
1
>
a. b. 12 C. d. 6_10 . el OxMNuwalsvenew

16. Find the LCM of g, ,ﬂ and S
3 7 13

1 12

b. — c. — d. 36 . Answer not known
6 1365 455

, ; LOBWILD %6&[ 15.0Um.D. eweud HewtBLILg.

12

c. — d. 36 . alenL O fwalsdenev
455
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Simplification

17.  The value of [1—1)(1—3)(1—1j...(1—i) is
2 3 4 100

e. Answer not known

e. allewL  OFHflwialedensv

(679+ 458)? — (679 — 458)>
679x 458
b. 2 c.3 d.4 d. Answer not known
(679 + 458)° — (679 — 458)?
679x 458

. . d. L e. alewL O fluialsvenev
10 10
Number system
19.  Which of the following is not true?
i. Every rational number is a real number
ii. Every integer is a rational number .
iii. Every real number is an irrational number -
iv. Every natural number is a whole number
a. (iv) alone b. (i)and(ii) c. (iii) and (iv)
d. (iii) alone e. Answer not known
LT6Ta(HAUGTOUMMIGT 61%H 2 6WIenLOUIG060?
1. @6lQeuT(H aNHHIPMI 6lewwTamId GO IGUIGHET
1. @6IGaUT(H (PIDHBEHD SNBSHAPWI 616w
11l. @euGeumh OoUIGWeRTamIlD all&SH(PBT  6T6u0T
V. @6lGeum(m Guled 6IeTenid G (LP(LD 616w
w. iv wl @G b.i wmmid ii c.iii w@mmib iv
d. iii 10 @b e. alenL Oxflwealsdemev

Volume
20.  The volume of the cylinder of height 'h' and base radius 'r' is

a. zr’h b. %nrzh C. 4rr? d. %721’2 e. Answer not known
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'h' e 2 wrGmSWID T THIB  DIgSHHENT YUTHMBUD OCBTEIL 2 (HeITU NG
B S6N6Y

a. zr’h b. %nrzh C. 47xr? d. %zrz e. el O fwalsdenev
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